int long float
int m,n;

int, short 2 Mac int 4
long 4

unsigned int, unsigned short 2

unsigned long 4

1 8hit 8 2 256
2 16 bit 2'%=65536
4 32 bit 2%=4 294,967,296

1 1

60x60x24=86,400 65,536
1ms 86,400,000

X 2

2 Xp X 1-++:X Xo ) X, €{0, 1}, 0<i<b
(bit:binary digit)

short 2 65,536 32,768

0000000000000000 O
(0000000000000001 1
0000000000000010 2

0111111111111110 32766
0111111111111111 32767
1000000000000000 -32768
1000000000000001 -32767
1000000000000010 -32766

1111111111111110 -2
1111111111111111 -1

32767+1 short -32768
long 2,147,483,647 1 -2147483648
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printf sizeof int short long unsigned int unsigned short

sizeofint=4
size of short =2

int short long unsigned int unsigned short unsigned long
10 8 21
C double pow( double x, double y ) X/

Excel DEC2BIN, DEC2HEX
+20 o1 22 28 of 25 26 o 28
+201 21 2%1, 231, %1, 2%1, 251, 271, 281

2 16
@ arith.c
(5) printf %d %Ix 4 %hx 2
arith.c 10 16
2,147,483,647 1
(6) scanf
short 80,000
#include <stdio.h>
int main(void)
{
short s0, s, s1;
s0=0;
s1=0;
scanf("%d", &s);
printf(*'sO = %hd¥n", s0);
printf(*'s = %hd¥n", s);
printf("'s1 = %hd¥n", s1);
}
(7) scanf float double 16
printf 4 16 %Ix 8 16
%lIx -2.0,0.125,0.25,05,1.0,2.0,4.0,8.0
(8) #define long
9 "¥033[34mtest¥033[0m¥n"
16 "test"” 74657374

1 "¥n"

unsigned long
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